Subject: warning: (all(partl))(part2) = part2*0.
Posted by R. Bauer on Thu, 04 Jun 1998 07:00:00 GMT

View Forum Message <> Reply to Message

This will gave an error like:
print,(all(partl))(part2)

0.00000 1.00000  2.00000
% Temporary variables are still checked out - cleaning up...

| know there are many solutions to get around of this malfunctional
code.
| was really surprising me that's it gaves this message.

PRO ind_err

all = findgen(100)

partl = findgen(10)

part2 = findgen(3)
(all(partl))(part2) = part2*0.

print,(all(partl))(part2)

END

R.Bauer

Institut fuer Stratosphaerische Chemie (ICG-1)
Forschungszentrum Juelich
email: R.Bauer@fz-juelich.de

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=1802
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=7758&goto=11882#msg_11882
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=11882
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

